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QUESTION 1

View the central management configuration shown in the exhibit, and then answer the question below. 

Which server will FortiGate choose for antivirus and IPS updates if 10.0.1.243 is experiencing an outage? 

A. 10.0.1.244 

B. Public FortiGuard servers 

C. 10.0.1.240 

D. 10.0.1.242 

Correct Answer: B 

 

QUESTION 2

View the exhibit, which contains the output of a web filtering diagnose command, and then answer the question below. 

NSE7_EFW-6.0 PDF Dumps | NSE7_EFW-6.0 VCE Dumps | NSE7_EFW-6.0 Practice Test                               2 / 5

https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html
https://www.leads4pass.com/nse7_efw-6-0.html


https://www.leads4pass.com/nse7_efw-6-0.html
2024 Latest leads4pass NSE7_EFW-6.0 PDF and VCE dumps Download

Which one of the following statements explains why the cache statistics are all zeros? 

A. There are no users making web requests. 

B. The administrator has reallocated the cache memory to a separate process. 

C. The FortiGuard web filter cache is disabled in the FortiGate\\'s configuration. 

D. FortiGate is using flow-based inspection which doesn\\'t use the cache. 

Correct Answer: C 

 

QUESTION 3

View the exhibit, which contains the output of diagnose sys session stat, and then answer the question below. 
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Which of the following statements about the output shown are correct? (Choose two.) 

A. There are 166 TCP sessions waiting to complete the three-way handshake. 

B. All the sessions in the session table are TCP sessions. 

C. There are 0 ephemeral sessions. 

D. No sessions have been deleted because of memory pages exhaustion. 

Correct Answer: CD 

 

QUESTION 4

How does FortiManager handle FortiGuard requests from FortiGate devices, when it is configured as a local FDS? 

A. FortiManager will respond to update requests only from a managed device. 

B. FortiManager can download and maintain local copies of FortiGuard databases. 

C. FortiManager supports only FortiGuard push update to managed devices. 

D. FortiManager does not support web filter rating requests. 

Correct Answer: B 

 

QUESTION 5
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An administrator wants to capture ESP traffic between two FortiGates using the built-in sniffer. If the administrator
knows that there is no NAT device located between both FortiGates, what command should the administrator execute? 

A. diagnose sniffer packet any \\'esp\\' 

B. diagnose sniffer packet any \\'tcp port 500 or tcp port 4500\\' 

C. diagnose sniffer packet any \\'udp port 4500\\' 

D. diagnose sniffer packet any \\'udp port 500\\' 

Correct Answer: A 
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